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78-
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80-

86-
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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence yvou will see

four words or phrases, marked (1), (2), (3), and {4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

The little boy has been taught by his parents not to even touch —————- does not belong
to him.

1) when he knows 2) does he know

3) he knows it 4} what he knows

Aware of the fact that Hassan was not vet feeling well enough, the doctors made his family
members --———-———— him to stay at the hospital a few more days.

1) were encouraged 2) encourage

3) they encourage 4) who encourage

The psychologists reported that those ----------eee-- part in the program agreed that their
stress levels had began to decrease.

1) took 2) to take 3) taking 4) taken

Before we go to the museum we had better call first to make sure —-------————- it is not
closed.

1) whether 2) although 3) that if 4) while

We ought to continue using fossil fuels until we manage to find cleaner -——--r-meeeee- of
energy.

1) cases 2) qualities 3) sources 4) partners

The plastic covering the box was ———-——- — so much that the plastic finally tore apart.

1) recycled 2) separated 3) removed 4) stretched

The diplomat refused to answer the question asked by a journalist, saying that it was
1) extreme 2) irrelevant 3) previous 4) individual

The findings of the study are frequently referred to by different scientists because they are
obtained from -—————— designed experiments.

1) carefully 2) actually 3) formally 4) directly

Unabhle to take good financial care of his family, the man decided to work in the afternoons
() P — his vearly income.

1) protect 2) estimate 3) enhance 4) survive

Another world war can be dangerous beyond imagination; some believe that it may even
lead to the destruction of the ---—-—-—--- human life on Earth.

1) immediate 2) active 3) public 4) entire

The new version of the vehicle, bigger in size and heavier in weight, has turned out to be
popular and is experiencing sales going beyond --------------- A

1) expressions 2} expectations 3) conditions 4) comparisons
It seemed to happen all of a -———-----——-- --; I felt terrible and asked to be taken to hospital.
1) sudden 2) purpose 3) trouble 4) dream

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
| decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

To evaluate fully the health effects of diet, though, one must look beyond cholesterol
ratios and triglyceride levels. The foods we eat can (88) --------—---- heart disease through
many other pathways, including (89) -=------——-- blood pressure or boosting the tendency
of blood to clot (i.e. to form into a soft thick mass). And other foods can prevent heart
disease (90) -----—--- -- ways; for instance, omega-3 fatty acids (91) ------e---- in fish and
some plant oils) can reduce the possibility of ventricular fibrillation, a heart rhythm
disturbance that causes sudden death.



Vhamis 511-C e L+ BN i

§8-
89-
90-
o1-
92-

93-

94-

But the questions of what the best diet is has been around for many years, with no
definite answer so far. Health experts argue that certain experiments that (92) --—-—---
years to finish are to be conducted before we can announce the end of this story.

1) predict 2) prepare 3) follow 4) cause

1) raise 2) to raise 3) raising 4) raising of

1) in surprising 2) to surprise 3) surprises 4) surprised

1) found 2) are found 3) which found 4) they are found
1) keep 2) pass 3) get 4) take

[ Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark vour answer sheet.

Passage I:

Many are surprised to learn that Antarctica is nearly twice the size of the United States.
The name Antarctica was created to mean "opposite to the Arctic." It is just that in many
ways. Antarctica is a high, ice-covered landmass. In the Arctic the landmasses are
grouped around the ice-covered Arctic Ocean.

Largely because of this difference, the climate of the two areas is very different.
Antarctica is the coldest area in the world. On the average it is about 30 degrees colder
than the Arctic. At the South Pole, nearly 10,000 feet high, monthly average
temperatures run well below zero. Only in regions near the ocean do temperatures
sometimes rise about freezing in the summer (December to March). In contrast, near the
North Pole monthly average temperatures often rise above freezing.

At both poles, daily temperatures may drop far below the monthly average. At the
American South Pole Station, winter temperatures sometimes fall below -100 degrees
Fahrenheit. Elsewhere, on higher parts of the south polar region, even lower
temperatures are recorded. A temperature of -127 degrees Fahrenheit was measured in
August 1960, It is the world's record low temperature.

Partly because of this climatic difference, the land animals and plants of the two
regions are very different.

It can be concluded from the passage that there are many people who ------------—-- .

1) think there is no Antarctica

2) cannot imagine how cold Antarctica is

3) do not know how great in size Antarctica is

4) do not have a clear idea about the landmasses in Antarctica

By the phrase this “difference™ in paragraph 2, the author refers to a difference in

1) size 2) physical features

3) climate 4) geography

Which of the following is NOT true about the climate in Antarefica, according to the
passage? ' '

1) On the average, it is colder than the Arctic region.

2) It does not have the same average temperature all over.

3) It is the coldest place in the world after the Arctic region.

4) In some parts of it, temperatures sometimes rise about freezing in the summer.
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The passage most probably continues with a discussion of ~—-c-ccccaeaeee i

1) why animals and plants are rare in cold regions

2) the effect of the climate on plant and animal life

3) how animals and plants adapt themselves to their environment

4) some differences between Antarctic and Arctic in relation to animal and plant life

Passage 2:

Both men and women are living longer. However, women, on the average, live longer. In
general, they can expect to live six or seven years more than men. The reasons for this
are both biological and cultural.

One important biological factor that helps women live longer is the difference in
hormones between men and women, Hormones are chemicals which are produced by the
body to control various body functions. Between the ages of about 12 and 50, women
produce hormones that are involved in fertility. These hormones also have a positive
gtfect on the heart and the blood flow. In fact, women are less likely to have high blood
pressure or to die from heart attacks.

The female hormones also protect the body in another way. They help the body to
defend itself against some kinds of infections. This means that women generally get sick
less often and less seriously than men. The common cold is a good example: women, on
average, get fewer colds than men.

Women are also helped by their female genes. Scientists are still not exactly sure how
genes influence aging, but they believe that they do. Some think that a woman's body
cells have a tendency to age more slowly than a man's. Others think that a man's body
cells have a tendency to age more quickly. Recent research seems to support both of
these possibilities.

The cultural context can also influence life expectancy for men and women. (Life
expectancy is the expected length of a person's life.) For example, women generally
smoke cigarettes less than men.

Another factor that has influenced the lives of women is the lack of stress. Stress is
well known to shorten lives. Until recently, women who worked were usually in less
responsible, less stressful positions. At home, housework tends to keep women in better
physical condition than men. This generally better physical condition is vet another
factor in women's longer lives.

What does the passage mainly discuss?

1) The role of hormones and genes in making women healthy

2) Physiological and cultural differences between men and women

3) The main reasons why women, on average, live longer than men

4) The reasons why modern society leads to men's and women's long life and good
health

According to the passage, men are more likely than women to -------------— 5

1) die from serious diseases such as heart attacks

2} control body functions without the use of hormones

3) develop the necessary skills to manage job-related stress

4) turn to cigarette smoking as a means to handle their social problems

The word "they" in paragraph 4 refers to - E

1) women 2) genes 3) scientists 4) body cells

The passage provides enough information to answer which of the following questions?

1) Why do men live longer at present than in the past?

2) What is one reason why women are generally in better physical condition?

3) Why does women's body produce fertility-related hormones between 12 to 50 years of
age?

4) Where were some research studies conducted to determine why women live a longer
and healthier life than men do?
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Part A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark the correct choice on your answer sheet.

101-

102-

103-

106-

107-

108-

109-

110-

[ -ememmeeee — the day off from work last month, Now I'm even more behind.

1) couldn’t take 2) mustn’t have taken

3) shouldn’t have taken 4) might be taking

———————————— few species that live on the ground, most monkeys live in trees.

1) A 2) All but 3) There are 4) Except fora
There’s still one piece of the puzzle that I ean’t work out --——--—---—-— .

1) there it goes 2) where it goes

3) that it goes where 4) whether it goes or not

The higher the content of carbon dioxide in the air, -—-—-————-,

1) it retains more heat 2) more heat it retains

3) the more heat it retains 4) than it retains more heat

Although Morecambe seems to be very attractive, but a new travel guide has advised
would-be tourists ------==-=----- a place to avoid.

1) what it is 2) that it is 3) of it being 4) that what

She looked very worried; I wondered - offer to help her.

1} if I should 2) whether an 3) should 1 4) what an

It was -———————— that I couldn’t really see her face.

1) so dark night 2) very dark night

3) a might dark enough 4) such a dark night

Not only ===-==-=caaaeee whales among the largest animals that ever lived, but they are also
among the most intelligent.

1) are 2) some 3) are they 4) there are

For the previous thirty years, he has done -——- he needed to.

1) no more than 2) more than any

3) not as much that 4) not much of that

————————————— Mount Whitney, one of America’s highest mountains, is popular with hikers.
1) The height from 2) Despite its height,

3) It is high, although 4) Although its height

Part B: Yocabulary
Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3). and (4). Choose the one word or phrase
that best completes the sentence, Then mark the correct choice on your answer sheet.

114-

115-

Some people have the ahility to ---—-—--—--———- a page, which means to read it very quickly,
just taking in the main points.

1) peruse 2) submit 1) skim 4) revise

If vou —-----——- what someone is going to ask for, vou're more prepared to understand
what they want.

1) assure 2) attribute 3) anticipate 4) acknowledge

You can see the original -—--—------——--—- of Hamlet in the museum in Shakespeare’s own
writing.

1) scene 2) performance 3) coverage 4) manuscript

Some students report that they get an —-----=-v-eeem to check their smartphones for news
updates and e-mail when they sit in class.

1) urge 2) insight 3) outcome 4) impression

You could tell by the way they behaved that they had --------—-—---- respect for each other.

1) extensive 2) mutual 3) coherent 4) arbitrary
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117-

118-

119-

120-

121-

122-

123-

124-

125-

126-

127-

128-

129-

When children enter a new school, they must ~-——-—-—— to the new surroundings, the
new teacher and the new rules.
1) adapt 2) pertain 3) allocate 4) accompany

Students decide on a field of study based on many factors, including personal interest and
CATEer —-——————,

1) sequence 2) register 3) interval 4) potential

If you work hard and are patient, -----=-==------ yvou will reach your goals.

1) randomly 2) relatively 3) eventually 4) alternatively

The skeleton makes a -————— for the human body. This supports the body and
protects it.

1) coordination 2) framework 3) hierarchy 4) relevance

In the experiment, she -----c--eeeeee people to groups depending on their experience with
using social media.

1) assigned 2) assisted 3) contributed 4) corresponded

When two people disagree, they should try to -———--————- the issue peacefully, not
violently.

1) integrate 2) attain 3) survive 4) resolve

There is ------—--—-—- in family structure across different countries and cultures. Families
are not the same everywhere,

1) innovation 2) variation 3) mediation 4) inclination

Unless the amount of greenhouse gases in the atmosphere stops increasing, future
generations face a(n) —--—---—---—-— future.

1) unaware 2) abstract 3) intense 4) dismal

Sometimes a poor test result from your doctor is the only -——-——--—-- yvou need to change
vour dietry habits.

1) extent 2) mission 3) trigger 4) training

When parents teach their children how to behave, they are tryving to —---—--—-——-- their
norms and values to the next generation.

1) devote 2) transfer 3) conform 4) perceive

Part C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series.
Then mark the correct choice on your answer sheet.

1) It was difficult to know how to express my refusal politely.

2) It was difficult to know how politely do I express my refusal.

3) It was difficult for me how do I know to express my refusal politely.
4) It was difficult for me that | know how politely | express my refusal.

1) The thief, when he saw the policeman, started running as fast as he could.
2) The thief, that he saw the policeman, started running as fast that he could.
3) The thief, that saw the policeman, started running so fast that he could.
4) The thief, when saw the policeman, started running as fast as he could.

1) If anyone object, they must say to put their complaint in writing.

2) If anyone objects, they must be told to put their complaint written.

3) Should anyone object, they must say to put their complaint written.

4) Should anyone object, they must be told to put their complaint in writing.

1) It was very good film that | went to see it twice.
2) It was such a good film that | went to see it twice.
3) It was so good film that | went to see twice.

4) It was a film enough good that 1 went to see twice.
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1) The children’s anticipation was seen in their excited faces as they waited for the
concert to begin.
2) The children’s anticipation that was seen in their excited faces as waited for the
concert that begins.
3) The children’s anticipation that was seen in their exciting faces as they waited for the
concert that begins.
4) The children’s anticipation was seen in their exciting faces as waited for the concert to
begin.

Part D: Language Functions
Directions: Read the following conversations between two people and answer the

questions about the conversations by choosing one of the choices (1) , (2), (3), or (4).
Then mark the correct choice on your answer sheet,

A: Aceounting is a career I never took an interest in.

B: (131) ~==mmemmemmeme . Mathematics was never vour strength.
131- 1) Let’s see 2) Neither do |
3) I didn’t recognize you 4) I can see why
Azl hope (132) ==mmmmeemaaaa- I drop the report off tomorrow at around 9:00.
B: (133) ~-=--—mmmmeeeee . 1 won’t be doing anything special
132- 1} vou don’t mind it 2)if you ask me
3) you can’t miss it it 4y if you could
133- 1) Oh dear 2) Another time maybe
3) Forget about it 4) Oh, that should be fine

A: Hi Bob! It's Ted. Listen, what are you doing at the moment?

B: Right now? (134) ~-———eeeeeee, Why?!

A: Well, do vou remember last week I told vou about that new gym? I'm just (135) ———----
and I wondered if you'd like to come too.

B: Yeah, great! Umm .... (136) -------—----——- . Ted, I actually went a couple of days ago. It's
really good.
A: Did you?
B: Yeah, well. I'm (137) -——————- the London Marathon next month, so I'm trying to
zet fit.
134- 1) Not quite 2) Nothing much
3) It’s no big deal 4) That’s really not necessary
135- 1) putting a lot of time into it 2) up to catching up on it
3) about to check it out 4) coming to think of it
136- 1) have your way 2) to tell you the truth
3) keep me posted 4) just to be on the safe side
137- 1) taking part in 2) looking up to
3) keeping up with 4) coming up with
A: Where's Bob? I've been tryving to (138) -— him, but he's not answering his phone.
B: He’s just gone out for a pizza. If you run, you might be able to (139) ——--veeeeeev him.
138- 1) hold on to 2) come down with  3) go along with 4) get through to
139- 1) get down to 2) face up to 3) catch up with 4) end up with

A: Mr. and Mrs. Sullivan were very friendly to their neighbors,
B: Their children are friendly too. Friendliness (140) ;
140- 1) runs in the family 2} is down on their luck
3) is the family’'s good book 4) keeps up with the Sullivans
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Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

141-
142-

143-

144-
145-
146-
147-
148-
149-
150-
151-
152-

153-
154-

155-

When European settlers arrived in North America at the end of the fifteenth century,
there were approximately 10 million native people (141) --——=-—-—-—-- over 300 different
languages. The first Europeans believed they had landed in India, (142) ====semmeemnes the
native people Indians. Indian and European cultures were very different, and the two
groups often had problems (143) --—-----see=- . Indian communities stretched from one
end of North America to (144) ——--——--———- . and they all had their own characteristics.
Many were nomads who moved across the land to hunt. (145) ———-—--- Indian
communities, they had a deep respect for the natural world and believed (146) -—=-—=-----
care of the land, they could use it to live on and to hunt; they did not own land in the
European way. (147) ==eeeeamenaes , the settlers built homes and towns, bought and sold
land, and wanted to own land.

Relations between Indians and Europeans ranged from cooperation to violent
(148) ——mmmmmmmmeee . At first, the European settlers often depended on the Indians for
assistance and trade. As (149) ---———--—e——- of settlers increased, however, they began to
move farther into Indian (150) —-=ecmceeee- and contlicts became more frequent and more
violent, There was death and destruction on both sides, but native people were usually
(151) =mmmmmmmmmmamn in these struggles for control of the land.

Many Indian communities (152) ----------—-—- by the actions of the settlers and
(153) e by the policies of the new American government. (154) ----------—--- 2
the FEuropeans brought new diseases which killed many Indians. (155) —----—-memuev
settlers came and wanted the rich land that the various groups of Indians, or tribes, lived
on, battles began between the government and various tribes for this land.

1) spoke 2) to speak 3) they spoke 4) who spoke

1) so they called

3) and they were called

1) to understand each one

3) of understanding another one

1) the other 2) other one
1) Like all 2) Alike the
1) to take 2} if take

1) Unlike 2) If so

1) notion 2) context

2) the number
2) perspective
2) who lose

1) a number
1) territory
1) loser

1) destroyed
3) who were destroved

1) the same as 2) later on
1) When they first arrived

3) As soon as arrived

1) The more 2) As more

2) so as to call

4) where they were called

2) understanding each other

4) of each other’s understanding

3) others 4) other

3) The similar 4) Likely as all

3) they took 4) that if they took
3) Whereas 4) In contrast

3) contlict 4) authority

3) numbers 4) number

3) destination 4) institution

3) the losers 4) those that they lose
2) destroying

4) were destroved

3) as well as 4) 50 on

2) At first their arriving

4) To arrive first

3) Many more 4) As many as
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Part F: Reading Comprehension
Directions: In this part of the test, vou will read three passages. Each passage is followed

by a number of questions. Answer the questions by choosing the best choice (1), (2), (3),
or (4). Then mark the correct choice on your answer sheet.

Passage 1:

156-

157-

158-

159-

160-

In the 1960s, the World Health Organization (WHO) began a campaign to eradicate the
mosquitoes that transmit the disease malaria. It was a noble goal, since malaria kills an
estimated 3 million people each vear in the world's tropical regions, predominantly
southern Africa. WHO led an effort to spray the mosquitoes' habitat with a chemical
pesticide—a poison used to kill insects—called DDT. Early results were promising, and the
mosquito was eliminated from the edge of its native range. However, the effort soon
faltered. How could a tiny mosquito thwart the best efforts of a large group of well-funded
scientists?

Situations like this one have occurred dozens of times in the last several decades. In a
common scenario, whenever a new type of pesticide is used to control agricultural pests,
the early results are encouraging. A relatively small amount of the poison dusted onto a
crop may kill 99% of the insects. However, the relatively few survivors of the first
pesticide wave are insects with genes that somehow enable them to resist the chemical
attack. The poison kills most members of the insect population, leaving only the resistant
individuals to reproduce. And when they do, their offspring inherit the genes for
pesticide resistance. In each generation, the proportion of pesticide-resistant individuals
in the insect population increases, making subsequent sprayings less and less effective.

Since the widespread use of chemical pesticides began in the 1940s, scientists have
documented pesticide resistance in more than 500 species of insects. The problems such
insects pose—through their impact on agriculture and medicine—are just some of the many
ways that evolution has a direct connection to our daily lives. Everywhere, all the time,
populations of organisms are fine-tuning adaptations to local environments through the
evolutionary process of natural selection. Given the dynamics of Earth and its life, it is
not surprising that even the kinds of organisms on the planet—the species—have changed
over time,

According to the passage, what did WHO do in the 1960s?

1) It introduced a new class of pesticides.

2) It fought against a malaria epidemic in Africa.

3) It actually made the entire Africa malaria-free.

4) It launched a DDT-based malaria elimination program.

What does the author mean by stating “The effort soon faltered™ (lines 6-7)7
1) Efforts at malaria eradication failed.

2) The map for malaria started to shrink.

3) DDT saved millions of lives in Africa.

4) Few resources were available for malaria control.

What is the main point of paragraph 27

1) Pests are now resistant to virtually all pesticides used against them.

2) Despite the strength of the pesticides, they only kill baby insects.

3) Pests have the ability to develop resistance to pesticides.

4) Agricultural pests are seldom atfected by pesticides.

The word “do” in paragraph 2 refers to ——-----—----—- "

1) having babies 2) passing on genes

3) becoming pesticide-resistant 4) killing members of the insect population
Which of the following can be inferred about pesticide resistance from paragraph 37
I) It is not a natural process.

2) It is evidence of evolution.

3) It is an inborn quality of very few insect species.

4) It is not affected by environmental factors,
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Passage 2:

161-

162-

163-

164-

165-

Today, with the development of computer technology, computers can capture, analyze,
and present data on second language students' performances during the learning process.
As we know, such important activities as observing and checking students' learning
progress help students acquire a second language. When teachers attempt to assess
students' learning progress, they can get the essential information from well-designed
computer language learning programs and then offer feedback tailored to students'
learning needs (Taylor & Gitsaki, 2003). In addition, students can get various authentic
reading materials either at school or from home by connecting to the Internet. And, those
materials can be accessed 24 hours a day. In a word, computer technology provides
interdisciplinary and multicultural learning opportunities for students to carry out their
independent studies.

For learning interaction, Warchauer (2004) indicated that the random access to Web
pages would break the linear flow of instruction. By sending e-mails and joining news
groups, second language learners can also communicate with people they never met
before and interact with their own classmates. Shy or inhibited learners can be greatly
benefited through the individualized technology-learning environment, and studious
learners can also proceed at their own pace to achieve higher levels.

Both cognitive theorists and humanists all pointed out that experience is a very
important factor for people's learning. Experiential theory educators believe that learning
is about making sense of information, extracting meaning and relating information to
everyday life and that learning is about understanding the world through reinterpreting
knowledge (Ormrod, 1999). When computer technology combines with Internet, it
creates a channel for students to obtain a huge amount of human experience and guide
students to enter the "Global Community”. In this way, students can not only extend their
personal view, thought, and experience, but also learn to live in the real world.

What is the author’s main purpose in the passage?

1) To introduce a new trend in second language instruction

2) To point out the reasons for the widespread use of computers in ESL classes

3) To argue for the application of computer technology in second language learning

4) To discuss the advantages and disadvantages of computer-assisted language learning
The phrase “tailored to™ in paragraph 1 is closest in meaning to ------------—-- i

1) similar to 2) useful for 3) added to 4) made for

Which of the following is NOT mentioned in the passage as an advantage derived by
students who use computers?

1) They waork at their own pace.

2) They read authentic materials.

3) They engage in communicating ideas.

4) They build a positive rapport with their teachers.

The author mentions experiential theory in paragraph 3 -————-,

1) to help students become the receivers of knowledge

2) to support an earlier assertion

3) as a modern learning theory

4) as a computer-based theory

The author has used all of the following methods of idea development in the passage
EXCEPT -------—--- -—.

| ) citation 2) exemplification

3) process analysis 4) cause-effect relationship
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Passage 3:

166-

167-

168-

169-

170-

The Elgin Marbles are statues which date back to the 5th century B.C. They were created
in Greece and were located there until the late 18th century, but they are now exhibited
in the British Museum, London. The statues used to be in Athens but they were bought in
1799 by the Englishman Lord Elgin, who wanted to bring them back to Britain as part of
his personal art collection. On the sea voyage back to England, the ship carrying them
was sunk and the Marbles were temporarily lost. It would be an incredibly expensive
operation to recover them. Elgin did so, and although he was a very rich man, he placed
himself in enormous debt. Later on he had to sell the Marbles to the British Government
to recover his losses and they were housed in the British Museum, where they have
remained ever since.

In recent times, the statues have become the subject of debate between Britain and
Greece and, indeed, among British historians and archaeologists. The Greek authorities
have requested the return of the Marbles on many occasions, but the request has always
been refused. There are arguments on both sides. Some people believe that it would be
foolish to return them, because of the pollution that is affecting the Parthenon and the
possibility of earthquakes in Greece. Restored to the Parthenon, the Marbles could be
exposed to damage

Of course, there are equally compelling arguments for their return, especially on the
moral level. It cannot be denied that the statues are part of the Greek heritage. Many
people also refute the argument that Athens would not be a safe place for them. They
claim that if the statues were returned to Greece, a new state-of-the-art building would be
constructed to house them, where they would be both safe, and in their rightful
environment. Furthermore, the British authorities have long used the argument that
works of art should not be subject to ownership, but should be kept where they are
accessible to most people. Yet in the past they have returned a number of cultural
artefacts from other civilizations to their origins.

What does the passage mainly discuss?

1) Controversies about a museum’s possession in London

2) Features that make the British Museum an unusual museum

3) Reasons for the popularity of the Marbles among the British

4) How British museums compare to Greek museums

Which of the following statements about Lord Elgin is true, according to the passage?
1) He was the founder of the British Museum.

2) He transported the Marbles to England by sea.

3) He stole the Marbles from a museum in Athens.

4) He created the Marbles in Greece before the 18th century.

What does the word “so” in paragraph 1 refer to?

1) Carrying the Marbles in an expensive ship

2) Borrowing a large amount of money

3) Looking for the missing statues

4) Selling the statues

Which of the following is mentioned as an argument used by those in favor of the return of
the Marbles?

1) The Marbles are part of the Greek cultural inheritance.

2} Greece has some modern buildings for preserving the Marbles.

3) Most people believe it is satisfving to see the Marbles in a Greek museum.

4) The British Museum has wrongfully removed many artworks from their original locations.
The passage best supports which of the following conclusions?

1) The Greek admit that the statues are safer in the British Museum,

2) The argument is likely to continue for some time in the future.

3) Almost all of the items kept in the British Museum belong to other cultures.

4) The conflict between the Greek and the British can easily be resolved.
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Teil A: Grammatik
76- Mein Grollvater trinkt jeden Morgen schwarz ........ Kaffee,
1)—e 2)—er 3)-en 4) —es
77-  Jeder weill, dass man ohne Fiihrerschein kein Auto fahren ...........
1) darf 2) kann 3y will 4) muss
78- Welchen Kasus verlangt die Priiposition »auler«?
1) Genitiv 2) Dativ 3) Akkusativ 4) Nominativ
79-  Wie lautet der Plural von »das Modell«?
1) Modeller 2) Modells 3) Modellen 4) Modelle
80- Bei welchem handelt es sich um das Passiv Perfekt von ndiskutieren«?
1) wurde diskutiert 2) wird diskutiert werden
3) ist diskutiert worden 4) war diskutiert worden
81-  Alte Zeiten sind vorbei, schaffen Sie also Neues, .......... Altes zu bewahren!
1) auller 2) um 3) ohne dass 4) anstatt
82-  Der Junge, .......... die Nachbarn nicht geglaubt hatten, war kein Liigner.
1) dem 2) der 3) den 4) das
83- Ersprach mit dem Soldaten, .......... ¢r die Dokumente in seinen Handen hielt.
1) Ob 2) bis 3) wenn 4) withrend
84- Welches der folgenden Verben wird stark konjugiert?
1) rauchen 2) vergessen 3) duschen 4) berithren
85- Hassan triomt ........... s¢ine Familie wiederzusehen.
1) davon 2) dariiber 3) darum 4) darin
Teil B: Vokabeln
86- »Waage« verhiilt sich zu »Gewicht« wie »Lineal« zu »........4.
1) Druck 2) Lénge 3) Stirke 4) Temperatur
87-  Am Ende jedes Semesters miissen die Studenten ihre .......... ablegen.
1) Mintel 2) Vorurteile 3) Priifungen 4) Gestindnisse
88-  Der Lehrer lieB die Schiiler wissen, dass es in niichster Sitzung eine ........ Ubung geben wird,
1) tigliche 2) sinnlose 3) erfolgreiche 4) schriftliche
89-  Wenn wir piinktlich zur Versammlung kommen wollen, miissen wir uns schnell ..... machen.
1) auf den Weg 2) auf und davon 3) auf die Suche 4) darauf gefasst
90- Bei welchem handelt es sich um keinen Fisch?

1) Lachs 2) Sardine 3) Kriihe 4) Forelle
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Teil C: Liickentest
Ergiinzen Sie den Text mit den richtigen Auswahlmiglichkeiten!

Der vollstindige (91) ......... von Baron Miinchhausen war Hieronymus Carl Friedrich
Freiherr von Miinchhausen. Er (92) ......... es, Geschichten zu erziihlen. Die waren so (93)
seeeeeneny @58 sie sich gar nicht zugetragen haben konnten. (94) ......... wird er auch oft der
wLigenbaron™ genannt. Andere Leute haben die Geschichten aufgeschrieben und daraus
£ S gemacht.

1) Name 2) Bericht 3) Stand 4) Ausdruck
1) empfahl 2) liebte 3) vergald 4) scheute

1) lebendig 2) gewshnlich 3) beliebt 4) verriickt

1) Trotzdem 2) Deshalb 3) Moglicherweise  4) Zum Gliick
1) Schmuck 2) Kriuter 3) Biicher 4) Bilder

Teil D: Leseverstehen

Madagaskar ist eine Insel und ein Staat im Siidosten von Afrika. Nur drei andere Inseln
auf der Welt sind grilier. Schon seit vielen Millionen Jahren ist die Insel vom Festland
getrennt. Darum gibt es dort viele Tiere und Pflanzen, wie man sie sonst nirgendwo
kennt. Ein Beispiel sind die Lemuren, das sind Halbaffen. Auf Madagaskar wohnen
Menschen, deren Vorfahren aus vielen Teilen der Welt hergekommen sind: Afrika,
Europa, Arabien, Asien. Das Malegassische ist eine Sprache, die mit Sprachen in Asien
verwandt ist. Lange Zeit war die Insel eine Kolonie von Frankreich. Seit dem Jahr 1960
gibt es hingegen die Republik Madagaskar als eigenen Staat.

Es gibt laut Text auf Madagaskar .......... Tiere und Pflanzen.

1) sonderbare 2) vergessene 3) bedrohte 4) gefahrliche
Auf der Liste der grifiten Inseln der Welt steht Madagaskar auf der .......... Platz.

1) dritten 2) vierten 3) fiinften 4) zweiten

Mit Sprachen welches Kontinentis ist das Malegassische verwandi?

1) Europa 2) Afrika 3) Asien 4) Amerika

Bevor aus Madagaskar 1960 ein .......... Staat wurde, war sie eine Kolonie von Frankreich.
1) neutraler 2) moderner 3) muslimischer 4) unabhiingiger

Welche Aussage iiber Madagaskar trifft nicht zu? Madagaskar ..........
1) ist ein grofer Inselstaat.

2) 1st ein monarchisches Land.

3) liegt im Siidosten von Afrika

4) war einst unter der Herrschaft Frankreichs.
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Complétez les phrases suivantes en cochant la réponse correcte:

Elle est bizarre: elle sert le café dans une tasse ......... thé,

1)a 2y de 3) du 4) au

Elle aime beaucoup I'ananas, elle .......... met méme dans le yaourt.

1)en 2y 3) lui 4)le

Mon mari ne fume plus .......... trois semaines, ¢'est incroyable!

1)en 2) pour 3) pendant 4) depuis
Quels sont les sujets ............ les éléves parlent beaucoup?

1) qui 2) dont 3) que 4) ou

Ne démissionnez pas ! Trop tard ............

1) je démissionne 2) j'avais déja démissionné

3) j'ai déja démissionné 4) j'aurai démissionng

Si nous étions bloqués dans 1'ascenseur, un voisin ............ AW SECOUrs.

1) appelle 2) ai appele 3) aurait appelé 4) aura appelé
Vous étes trop tendue: il faut que vous ... moins de café.

1} prenez 2) preniez 3) prendriez 4) prendrez
Pierre habite dans un ........... appartement ensoleillé.

1) belles 2) belle 3) beau 4) bel

Partie B: vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

Comme elle est hollandaise, elle adore surtout les .......... .

1) roses 2) tulipes 3) orchidées 4) chrysanthémes
Eric a été marié & une violoniste qui I'a quitté, Maintenant Eric est ....ovnn.. .

1) divoreé 2) veuf 3) marié 4) célibataire
Il a un pére noir et une mére blanche; il est ............ 2

1) orphelin 2) métis 3) enfant unique 4) étranger
Des milliers de personnes sont mortes & ¢ause ........... d' Eboula.

1) des traitements 2) des diagnostics

3) des symptomes 4) de l'épidémie

La fille, que la mére venait de gronder, versait des ......... de erocodiles.

1} aversions 2) fraveurs 3) larmes 4) pensées

Le directeur espére ........ des candidats possédant une expérience professionnelle.
1) licencier 2) recruter 3) enregistrer 4) occuper
Les pharmaciens vendent les antibiotiques sur ......... du médecin.

1) la transcription  2) la prescription 3) l'ordre 4) l'ordonance
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Partie C: Texte a compléter
Complétez le texte suivant a I'aide des réponses correcte:

On a pu faire dire & Mahomet que la guerre sainte est ......... (91) que I'on mene contre
SOI-MEME ..ovevveene (92) se réformer moralement, et que l'autre guerre, celle qui consiste a
porter la domination ........... (93) en pays infideles, n'est que la petite guerre sainte.

Mais, comme on vient de .......... (94) rappeler rapidement, 'effort de I'lslam vers une
vie plus intérieure se trouve assez limité.

Dans la doctrine officielle, la vraie guerre sainte reste celle que I'on méne contre les

non-Musulmans, méme si, I'on renonce aux armes .......... (95).

1) celle 2) ceux 3) celles 4) celui

1)a 2y de 3) pour 4) par

1) musulmanes 2) Musulmane 3) musulman 4) musulmane
1) le 2)en 3y 4y lui

1) guerriéres 2) meurtiéres 3) tucuses 4) assassinantes

Partie D: Compréhension de texte
Lisez le texte snivant et répondez aux questions:

I'Institut National de Prévention et d'Education pour la Santé ( INPES) est un organisme
public du ministére de la Santé qui est l'origine 4 de nombreuses campagnes autour de la
santé en général: tabac, sida, alcool, nutrition....

Pour la partie diététique et nutrition, le programme prévoit d'une part un grand nombre
d'études sur les habitudes alimentaires des Frangais, leurs carences, l'obésité....; d'autre
part, il fixe des objectifs d'amélioration a cing ans. Les "5 fruits et légumes par jour", c'est
eux.

LINPES poursuit trois grandes ambitions: informer les consommateurs sur les
aliments qu'ils consomment, surveillent 'évolution de la situation nutritionnelle de la
population, et engager des mesures de santé publique nécessaires.

L'INPES vise aussi a stimuler l'activité physique pour rééquilibrer les apports et les
dépenses d'énergie. En effet, l'effet combiné de la mal bouffe et de la sédentarité s'avere
nefaste et se mesure par l'augmentation des maladies cardio-vasculaires. Le lien entre le
cancer et alimentation est également aveéré, et l'effet protecteur des fruits et légumes est
reconnu par tous les experts.

L'INPES est ......... .

I') une institution 2) une association frangaise

3) un organisme public 4) une campagne de propagande
L'INPES a comme objectif ........... .

1) d'encourager la santé 2) de manger équilibré

3) d'améliorer la nutrition 4) de favoriser 'activité physigue
La campagne sur la nutrition a ............ de faire manger 5 fruits et légumes par jour.
1) favorise 2) améliore 3) réussi 4) limité
L'augmentation des malades cardio- vasculaires est diie i ......... .

1) I'allaitement 2) la nourriture salée

3) la pratique du sport 4) la malbouffe et la sédentarité
L'effet protecteur .....ceeunn. n'est plus & prouver.

1) de la mauvaise nutrition 2) de la pratique excessive du sport

3) des fruits et des légumes 4) la consommation de l'alcool
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A. BeoibepuTe npaBHabLHBIN BAPHAHT OTBETA:

T6-  Cepreii CPOCHI MEHI, covvivernrisassse 8 000 NHTH Koge,
1) cuem 2) uemy 3) wero 4) 0 uem
T7- Moii Dpar HHTEPLCYETCH ovuvrrars TR
1) pycekas nureparypa 2) ¢ pycekoil nrepary poi
3) 0 pycckoil IuTeparype 4) pvcckoil aMTepaTypoi
78-  Mepen orkeznoM B MocKBY APYILA J0JT0 CHOPHIH (ooviiiniiiiinian HA 3aBTpA.
1) aKCKYPCHOHHYIO NpOrpaMMy 2) ¢ IKCKYPCHOHHOH nporpaMmoii
3) 00 IKCKYPCHOHHOH NpOrpaMMe 4) SKCKYPCHOHHOH NPOrpaMMoi
79-  Moc/ie KONUEPTA APTHETBI HAYAIH o.ovvernrnnssnssns. HA BONPOCHI 3pHTEICH.
1) oTBETHTE 2) orBeuaTh 3) OTBETHIH 4) oreeuana
B0- Auma ......oooieiien. K OKHY W 3AKPBLIA €10,
1) nogomna 2) nepemna 3) oroua 4) ymna
81-  Ouu CMOTPEAN KOHUEPT APTHCTOB «ovvvvrirssrarsssans s
1) My3pIKaIbHOMY TeaTpy 2} B My3bIKaIBHBIH TEATP
3) MY3LIKANLHBIH Tearp 4) My3BIKANEHOTO TEaTpa
82- Ha pTopoM 3TaHe MPOTACTCH vevreemrrnnrransrans =

1) nerckyio onesay  2) aerckoil onesanpl 3) aerckas ofesaa  4) AeTckoi onexnoi
83-  JlwoaH 100KHB] OXPAHATE ovverrierninennen

1) npupoaa 2) npupoay 3) ¥ npupoas 4) o npupone
84-  Cepreii mHmer aApyry, ..c.coeveninnne. .. wneeT B Mockee.

1) KoTOpOMY 2) koToporo 3) koTopyiD 4) koTopslii
85- Kak 30BYT 3TOT0 HEHOBLEKN, cuvvveeriminsinnin pairopapueaer AnewcaHap?

1) ¢ KOTOPHIX 2) ¢ KOTOpbLIM 3) koTopas 4) koTopbiii
86- Baquarh CeAbMOTO ovvusneeiannnssa... OHA YEXATA NOMOIL.

1) cenTadps 2) cenTabpe 3) B ceHTAOpE 4) B cEHTAODE

B7- I moc/iai NHCBMO ...vooviiiiinninnin
1) crapineii cectpel  2) crapmas cectpa  3) crapmieii cectpe  4) cTapmyro cecTpy
88- AHTOH Cel B MAIHHY H ooovvveninnnnennes i

1) moexan 2) Bhexan 3) npuexan 4) nogbexan
89- BrICTABKA D¥ICT voeviinvrinrnnnrn INBTPpA.

1) oTKpREIT 2) oTkprITA 3) oTkpRITan 4) OTKpBITEIH
- evvviiviiiininienn B Mockpe, Camup vacro xonma B BoJabmoi tearp.

1) Kupyimi 2) lpowue 3) Kues 4) IMpowusini

91-  HBaH CHPOCHI, covvianiinsssisesses ECTh YHEDHHEK.
1) kTO 2) koro 3) ¢ wem 4) ¥y koro
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Honoanure TereT, HCNOIBIYHA NOAX0OAIIEE MO CMEICTY CA0OBO.

Tenepe momn B (92) ............ cTpane 35a0T (93) ........... apTHCTKY MpHHY Apxunosy.
(77 ) R, JHAIOT M B JIPYIHX CTPAHAX: OHA BBICTYIANA BO MHOIHX Tearpax
(95) ............ . HHorzoa ee cnpammsatot: «ae Bei (96) ...........7»

1) natei 2) nawe 3) Hai 4) Hamu

1) zaMeuatensHeie  2) 3aMeuartenbHoi  3) 3aMevarensHylo  4) 3aMeuareqnHas

1) Ee 2) Eit 3) Oua 4) Emy

1) Mup 2) Mupy 3) B MHp 4) mupa

1) yuumachk 2) YUHAHCH 3) yunnca 4) yuuTheH

"pﬂ'—lH'ﬁiﬁTE TEKCT H BRIMMNIHHTE FA0aHHHA MOC.ae Hero:

Pycckmii yuenniii [Imutpuii Mennenees poaunca 27 ausapa 1834 roma B8 Cnbupm, B
ropoje Tobonecke, B cembe auperTopa rHMHazHH. O Own nocaeanuM pebenkom Meana
[Magnosu4ua v Mapuu JIMurpieensl Menneneesnix. Bekope nocne posxiaenus ceina Mean
[laBnoeuu Taxeno sabonen, HO Mpoaokan padotath. Yepes HeCKOIBKO JET, MOCAE TOTO
KaK OH VINE] HA TMEHCHK), MaTepHAIBHOE MOJONKEHHE CeMBH CTAN0 OYeHb TPYIAHBIM.
OcTraBlKCE BO BpeMs Dole3HH Myska Oes jeHer, ¢ JeTeMH B pykax, Mapus JIMurpuesHa
nepeexana ¢ ceMbeil B ceno wemaneko ot ToGonwcka, rae v ee crapuero Opata Obin
Hebonbmoi 3aoa. C cornacua Opara, wuBmero B Mockee, oHa cTana pyKOBOIHTH
pﬂﬁtﬂﬂﬁ 3aBO14. ,.[[EIIEI MOULTH - XOPOoLe,  H MﬂT‘ﬂpHEﬂleﬂﬂ MMOJIOMEHHE  CeMBbH
MOMPaBUIOCE. ..

Oren [l Menpeneesa paborad ......coovevirnnnnn THMHASHIL

1) yupenurenem 2) AMpEKTOPOM 3) coymammm 4) npenonapaTenem
JI. Menae/1eeE GbLT B CEMBE .uuvvusiesiessansan pebeHKEoM,

1) nocneHum 2) BTOpPEIM 3) cTapmimm 4) MaamIIM

CemMba MEI‘IHEJ'[E{!BI:[K HCNBITAOA CEPRCIHBIC MATCPHANBHLIC TPYIHOCTH, NOTOMY ®HTO
1) B cembe OBIJIO MHOTO JETei

2) Mean llapnoeuu Tsoxeno zabonen

3) Hean IlaBnosuy crai neHcHoHepoM

4) Cemba Menneneeprix nepeexana w3 Tobonkcka B ceno

CEMI:-H MEHJ’IE.’IEEBHI CTANA HHTE MATEPHAIBHO JYIIE, MOCTE TOND KAK .covvviieinianis "

1) nepeexana 8 Mockey

2) JImurpuii OKOHMMIT FTHMHAHIO

3) bpar Mapun JIMHTpHeBHBI KyNTH HeOONLIION 3aB0

4) Mapus JIMHTpHEeBRHA HAYANA VIIPARIATE 3ABOI0OM Oparta
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Capitolo A: Indicate la risposta corretta:

Tra le frasi seguenti gquale ha pronome dimostrativo?
1) L ascensore ¢ fermo al terzo piano.

2) Qualcuno di voi avrebbe dovuto informarmi.

3) Voi avete delle belle rose. Posso averne due?

4) Questa mattina mi sono svegliato molto presto.

Rispondere negativamente alla seguente domanda usando I'aggettivo contrario. E™ alta
questa montagna?

13 E" bassa 2)No, non g’

3) No, non ¢ alta 4) No, non ¢ alta, ¢” bassa
Indica il contrario della parola smarrito.

1) perso 2) perduto 3) ritrovato 4) lasciato

Volgere la frase alla forma passiva: Alessandro ha commesso un errore,

1) Un errore ¢ stato commesso da Alessandro.

2) Un errore si ' commesso.

3) Un errore ¢ commesso.

4) 8i e” fatto un errore.

Completa la seconda parte della frase con la forma adeguata del passato remoto. Voi

andaste al cinema ed i0 .ovvviiniiniiinnn al mercato.

1) ando’ 2) andai 3) andaste 4) andasti
Coloro ..couciiiiiiiaians hanno fatto questo sono maleducati.

1) il cu 2) quali 3) che 4)1cu
Signore, continui ancora per 200 metri poi, quando arriva in fondo alla strada , ..............
a sinistra.

1) giri 2) gira 3) ritorni 4) ritona

Il camion era tutto di traverso ¢ ... completamente la strada,

1) apriva 2) bloceava 3) lasciava 4) batteva
Yado a dormire, ...ccoresnenes non sono stanco.

1) percio’ 2) perché 3) anche se 4) cosi che
Michele e Anna spediscono ... @i loro amici.

1) testo 2) bicicletta 3) macchina 4) cartoline
Dove tieni la macchina? o la .....ccoiinne in garage,

1) tieni 2) tiena 3) tieno 4) tengo
Quel dentista ¢ pill COStO50 .ucinnciniennen. hravo,

1) ma 2) che 3)da 4) di
wessssssnnsnnnss N0OM faceio sport, ne risento.

1) Se 2) Poi 3) Mentre 4) Dopo che
Era ora che voi ....cccoevveve. di comprare la macchina!

1} decidi 2) decida 3) decidere 4) decideste
Sembrava che nessuno ................... pitt il proprie dialetto in quella regione.

1) usi 2) usa 3) usasse 4) usirebbe
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Capitolo B: Completate il seguente testo con le parole proposte:

Come per tante altre ricorrenze, le origini della .......... (91) Halloween sono molto lontane
nel tempo: si legano a riti contadini, alle feste legate al raccolto, alla voglia di esorcizzare
la paura della morte. La ........... (92) di Halloween ha probabilmente origini Celtiche. Gli
antichi Celti che abitavano in Gran Bretagna, Irlanda e Francia, erano un popolo dedito
all’agricoltura e alla pastorizia e .......... (93) I'inizio del Nuovo Anno il 1*Novembre, che
era il giorno in cui si celebrava la fine della “stagione calda™ e I'inizio della “stagione
delle tenebre e del freddo”. La .......... (94) segnava la fine dei raccolti, il momento in cui
I — (95) venivano riportate negli ovili e ci si preparava a trascorrere il lungo inverno
al cado delle proprie case.

1) festa 2) forma 3) base 4) vita

1) base 2) forma 3) informazione 4) celebrazione
1} parlavano 2) dichiaravano 3) dimostravano 4) festeggiavano
1) festa 2) forma 3) ricorrenza 4) celebrazione
1) gregai 2) popoli 3) creature 4) popolazioni

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

Colori primari, che non possono essere generati da altri colori ma che con le loro
combinazioni danno vita a tutti gli altri toni, sono: il giallo, il rosso e il blu. Se mescoli il
giallo con il blu otterrai il verde, mescolando il giallo con il rosso otterrai I'arancione,
mescolando il blu con il rosso otterrai il viola: questi tre “nuovi” colori si chiamano
secondari. Dalle altre innumerevoli combinazioni di primari e secondari nascono tutti i
colori possibili, che possono essere piu chiari o pit scuri a seconda delle presenza o

assenza di luce (bianco e nero).

I colori che danno vita a tutti gli altri colori sono ... .

1) oscuri 2) chiari 3) primari 4) secondari
Dalla mescolanza del giallo con il blu si ottiene ... .

1) il nero 2} il verde 3) il viola 4) I'arancione
Dalla mescolanza del giallo con il rosso si ottiene ......ccoceee. .

1} il viola 2) il nero 3) il verde 4) I'arancione
Dalla mescolanza del blu con il rosso si ottiene .....cceeenen

1) il viola 2) il verde 3) il grigio 4) I'arancione
L'oscurita o la chiarezza dei colori dipende .........ccueec ©

1} dal colore 2) dalla luce

3) dalla penna 4) dalla combinazione
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Teil A: Grammatik

Das Leben mit ein ....... geizig ....... Mensch ....... ist sehr mithsam und kriftezehrend.

Iy —erd -/~ 2)—er/—en/—en 3)—em/—en/— 4) —em /—en/—en

Ich habe die ......... griindlich gewaschen und auf einem Teller samt Messer bereitgestellt.
1) Apfel 2) Apfel 3) Apfeln 4) Apfeln

In welchem Tempus steht der Satz »Paul wird seine Diplomarbeit geschrieben haben«? 1)
Futur 1 2} Futur 11 3) Prisens 4) Pertekt

Ukraine versteigert das beschlagnahmte Vermigen ihr ........... alt ........... Prisident .........,
Janukowitsch.

1)—es/—en/-en 2)-en/—en/—en 3)—es/—en/- 4y—/—er/ -

Welches der folgenden Adjektive kann man nicht steigern?

1) kurz 2) spannend 3) schrifilich 4) fleiBig

Wie lautet der Komparativ von nschwach«?

1) schwiicher 2) schwacherer 3) schwiichste 4) schwachste

Welchen Kasus verlangt die Priiposition »seit«?

1) Dativ 2) Genitiv 3) Akkusativ 4) Nominativ

Welche Art von Pronomen findet sich im folgenden Satz?
»Mein Onkel ist ein Uni-Dozent.«

1) Demonstrativpronomen 2) Relativpronomen

3) Personalpronomen 4) Possessivpronomen

Der Mann, ......... Sohn unser Nahbar ist, kommt aus Polen.

1) der 2) denen 3) deren 4) dessen

110- Welches Modalverb kann den markierten Teil im folzenden Satz ersetzen?

111-

112-

113-

114-

115-

116-

117-

118-

119-

120-

»Er hat den Wunsch, nach Deutschland zu reisen«

1) diirfen 2) kénnen 3) mochten 4) wollen

Bei welchem der konjugierten Verben handelt es sich um eine Gegenwartsform?
1) isst 2) briet 3) fiel 4) fing

.......... mein Vater fast 80 Jahre alt ist, ist er sehr aktiv.

1) Sobald 2) Obwohl 3) Damit 4) Als

Der Pharao ......... den Agyptern, jiidische Kinder in den Fluss zu werfen, um sie zu titen.
1) befiehl 2) befehlte 3) befahl 4) befiehlte
Das einzige, .......... er stolz ist, ist seine Bescheidenheit.

1) wobei 2} wovon 3) woran 4) worauf

Er fihrt Auto, ...cce... einen Fiihrerschein zu haben.

1) statt 2) ohne 3)um 4) auBer

Teil B: Vokabeln

Er wollte sie priigeln, aber als sie ihm diec Ziahne zeigte, blieb er auf .......... .

1) Kurs 2) Speiseplan 3) Abstand 4) dem Laufenden
Der Kuchen war zu lange im ........... . Jetzt ist er ganz schwarz.

1) Keller 2) Urlaub 3) Becken 4) Backolen

Er verlor seine Brille und konnte fast nichis mehr .......... ;

1} sehen 2) hisren 3) essen 4) halten

Der Fremde .......... jeden zur Strecke, der sich ihm in den Weg stellte.

1) stellte 2) brachte 3) schlug 4) hielt

Ein .......... Mensch ist jemand, der immer alles wissen will.
1) siichtiger 2) neidischer 3) neugieriger 4) vergesslicher
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Der kleine Junge bekam ........... y als er das unheimliche Wesen schreien hirte,

1) Lust 2) Angst 3) Hunger 4) Geschenk

Ich glaube, mein Mann hat einen ...........! Haben Eure Minner auch so komische Ideen?
1) Vogel 2) Hund 3) Hut 4) Kater

Der Mann wohnt in der Schillerstrafie 9, und zwar im vorletzten .......... i

1) Teil 2) Sitz 3) Stock 4) Geschiift

Da die Kahns nicht mehr in unserer Nachbarschaft wohnen, sehen wir sie .o .

1) Glter 2) selten 3) ungern 4) immer

Ich hiitte wissen miissen, dass sie alle unter einer ......ie stecken.

1) Glocke 2) Treppe 3) Tasche 4) Decke

Er hatte wieder mal ein schlechtes .........., weil er zu viel gegessen hatte.

1) Klima 2) Gehir 3) Zeugnis 4) Gewissen

) T — der Natur hat negative Auswirkungen auf das Leben der Menschen und Tiere.
1) Ausbeutung 2) Geschichte 3) Erhaltung 4) Vielfalt

Er..ccoeee. 2inen Deutschkurs, damit er an einer deutschen Universitiit studieren kann,

1) kennt 2) trifft 3) belegt 4) besitzt

Dort wo Konflikte unter den .......... gekehrt werden, fehlt es an Lebendigkeit.

1) Finger 2) Teppich 3) Tisch 4) Schuh

Ich und mein Bruder verabredeten uns fiir 17 Uhr, vorher hatte ich einen anderen ....... .
1) Job 2) Termin 3) Namen 4) Vertrag

Teil C: Satzbildung
Welcher Satz ist grammatisch und sinngeméaB korrekt?

Maria / tiiglich / anrufen / Eltern / ihr- / werden / von

1) Maria wird téiglich von ihrer Eltern anrufen.

2) Maria wird von ihrer Eltern tiglich angerufen.

3) Maria wird tiiglich von ihren Eltern angerufen.

4) Téglich wird Maria von ihrem Eltern angerufen.

um / sieben / die Aufseher / piinktlich / zumachen / die Tiiren
1) Piinktlich um sieben machen die Aufseher die Tiiren zu.
2) Um sieben machen die Aufseher piinktlich die Tiiren zu.
3) Piinktlich um sieben machen die Tiiren die Aufseher zu.
4) Piinktlich machen um sieben die Aufseher die Tiiren zu.
erinnern / der Film / mein- / Kindheit / an / ich

1) An meine Kindheit erinnert mir der Film.

2) Der Film erinnert mir an meiner Kindheit.

3) Mich erinnert der Film an meiner Kindheit.

4) Der Film erinnert mich an meine Kindheit.

Das Geschenk / fiir / sich bedanken / bei / ich / Julia / haben
1) Julia hat sich bedankt bei mir fiir das Geschenk.

2) Bei mir Julia hat sich fur das Geschenk bedankt.

3) Julia hat sich bei mir fiir das Geschenk bedankt.

4) Fiir das Geschenk hat Julia sich bei mich bedankt.
abschlieBen / immer / sie / von innen / nachts / die Haustiir
1) Nachts schlielien sie immer die Haustiir von innen ab.
2) Sie schliefien immer die Haustiir von innen nachts ab.
3) Nachts immer sie schlieffen die Haustiir von innen ab.
4) Immer die Haustlir schlieBen sie nachts von innen ab.
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Teil D: Liickentext
Erginzen Sie den Text mit den richtigen Auswahlmiglichkeiten!

Eine Ballade ist eine Art Gedicht. Das Wort (136) .......... aus dem Siiden von Frankreich.
Es (137) covvvrennnne fiir ein Lied z7um Tanzen. Im Deutschen meint man (138) ............. ein
Gedicht, das etwas erziihlt. Oft sagen mehrere Leute etwas in der Ballade, so dass auch

gin (139) .............. entsteht. Um 1500 waren die Dichter der Balladen meist noch
(140) .......... . Spiiter haben berithmte Schriftsteller wie Goethe solche Gedichte (141)
......... . Eine bekannte Ballade von Goethe ist der Erlkdinig®. Sie (142) .............. zZu den
naturmagischen Balladen: Eine unheimliche (143) ......... aus der Natur, ein
Zauberwesen, spricht zu einem Menschen und tut (144) ............. sogar etwas an. Andere
Balladen erzihlen (145) ............... ein Ereignis aus der Geschichte oder (146) .............
von Helden. Im 20. Jahrhundert kam noch ein (147) ............... hinzu: Balladen, in denen
der Dichter klagt, (148) ............ ihm an der Gesellschatt nicht gefillt. Im 19, Jahrhundert
haben (149) ..........c... zu bekannten Balladen Musik geschrieben. Goethes Ballade vom
.Erlkonig"” hat von Franz Schubert eine (150) ............. bekommen.

1) lduft 2) fillt 3) stammit 4) besteht

1} heilt 2) stand 3) traf 4) sprach

1) gerade 2) trotzdem 3) unbedingt 4) hingegen

1) Gespriich ~ 2) Unternehmen 3) Geheimnis 4) Schaden

1) bescheiden  2) harmlos 3) unbekannt 4) frishlich

1) gebaut 2) verfasst 3) vergessen 4) unterschrieben

1) gehért 2) fiihrt 3) kommt 4) meint

1) Folge 2) Zukunft 3) Gestalt 4) Karriere

1) ihm 2) ihr 3) ihnen 4) euch

1) fiir 2y um 3) auf 4) iiber

1) hiren 2) triumen 3) erfahren 4) berichten

1) Brief 2) Fehler 3) Thema 4) Geschiift

1) ob 2) was 3) wie 4) wer

1) Komponisten 2) Astrologen

3) Regisseure 4) Philosophen

1) Kugel 2) Nachricht 3) Melodie 4) Stimme
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Teil E: Leseverstehen
Text 1:

Die Wikinger waren Seefahrer aus Nordeuropa im Mittelalter. Woher das Wort kommt,
ist nicht genau bekannt. In der altnordischen Sprache ist eine ,,viking® eine Seefahrt, um
zu rauben. Die Wikinger lebten im heutigen Norwegen, Schweden und Dédnemark. Sie
bauten Schiffe und handelten mit Waren. Einige von ihnen allerdings haben Schiffe,
Dérfer und Stidte rund um die Nordsee und Ostsee angegriffen und ausgeraubt. Uber die
grofien Fliisse wie den Rhein kamen sie sogar weit ins Landesinnere, bis nach Paris,
Koln oder Trier. Wegen der grausamen Raubziige hat man die Wikinger damals in vielen
Lindern gefiirchtet. Es gab aber auch Menschen aus dem Norden, die friedlich in andere
Lander eingewandert sind. Eine Gegend im Norden von Frankreich heilit nach den
fritheren Einwanderern heute Normandie. Andere fuhren bis ins Mittelmeer und
eriindeten dort eigene Staaten. Wieder andere reisten iiber die Ostsee durch das heutige
Russland und die Ukraine bis ans Schwarze Meer. Die Raubziige der Wikinger hérten
erst auf, als Nordeuropa christlich wurde.

Wegen ihrer .......... waren die Wikinger iiberall gefiirchtet.

1) Taplerkeit 2) Beweglichkeit 3) Korpergrilie 4) Grausamkeit

Aus dem Text geht hervor, dass es unter Wikingern auch ......... Menschen gegeben haben.
1) dngstliche 2) friedliche 3) rebellische 4) dunkelhéutige
Welcher Grund hat die Wikinger dahin gebracht, mit den Raubziigen aufruhiren?

1) Sie brachten ihnen kein Profit. 2) Thre zahlreichen Niederlagen

3) Christianisierung Nordeuropas 4) Dafiir gab es keinen besonderen Grund.
Welcher Tiitigkeit gingen die Wikinger nach?

1) Sie ziichteten Plerde. 2) Sie handelten mit Waren.

3) Sie bauten Gemiise an. 4) Sie waren Ackerbauer.

Der Ursprung des Wortes Wikinger ..........

1) ldsst sich nicht eindeutig bestimmen.  2) liegt in der lateinischen Sprache.

3) geht auf das Wort Raubtier zuriick. 4) ist vollig aufgeklirt.

Laut Text impliziert das altmordische Wort »viking« das .......... .

1) Fischen 2) Handeln 3) Reiten 4) Rauben

In welchem europiiischen Land liegt Normandie? In ..........
1) England 2) Russland 3) Frankreich 4) Deutschland
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Text 2:

(to von Bismarck war ein deutscher Politiker. Er wurde 1815 geboren. Er leitete die
Regierung von Preullen, einem groflen deutschen Staat, den es heute nicht mehr gibt.
Durch Preufien wurde Deutschland ein einziger, gemeinsamer Staat. Bismarck selbst war
der erste Regierungschef dieses neuen Deutschen Reiches. Bismarck studierte Recht und
arbeitete spiiter als Botschafter fiir PreuBlen. Er vertrat sein Land unter anderem in
Russland. Ab 1862 war er Regierungschef von Preulen. Damals wollte das Parlament
mehr mitbestimmen. Bismarck hielt davon nichts und regierte teilweise auch gegen den
Willen des Parlaments. Deutschland war damals noch kein Staat, sondern nur ein
Zusammenschluss von mehreren deutschen Staaten. Das michtigste Land in diesem
Deutschen Bund war Osterreich. Bismarck legte es auf einen Krieg mit Osterreich an, im
Jahr 1866. Preullen gewann. Mit den Staaten im Norden von Deutschland bildete
PreuBen den Norddeutschen Bund. Das war ein neuer Staat, und Bismarck wurde der
Bundeskanzler, der Regierungschel.

Welches Fach studierte Bismarck an der Universitit?

1) Jura 2) Medizin 3) Geschichte 4) Politik
Welches Amt iibte Bismarck aus, bevor er Regierungschef von PreuBlen wurde?
1) Justizminister 2) Botschafter

3) Staatssekretir 4) Parlamentsprisident

Welches war das miichtigste Land im Deutschen Bund?

1) Preufien 2) Osterreich

3) Konigreich Bayern 4) Freie Stadt Bremen

Welches ist in der zweiten Dekade des 19. Jahrhundert passiert?
1) Bismarck wurde geboren.

21 Bismarck absolvierte sein Studium.

3) Preuflen gewann den Krieg gegen Osterreich.

4) Bismarck wurde Regierungschef von Preullen.
Welche Aussage iiber Bismarck trifft nicht zu? Er ...........
1) war ein Staatsmann.

2) war zeitweise Bundeskanzler.

3) hatte keine gute Beziehung zu Parlament.

4) wollte den Krieg gegen Osterreich vermeiden,

Wann wurde Bismarck Regierungschef von Preufien?

1) 1815 2) 1850 3) 1862 4) 1866
In welchem Zusammenhang taucht der Name Russland im Text auf? Bismarck .........
1) besuchte als Staatschef Russland. 2) fithrte einen Krieg gegen Russland.

3) verbrachte seine Ferien in Russland. 4) arbeitete eine Zeit lang in Russland.
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Text 3:

Der Barock oder das Barock ist ein Stil aus der Geschichte der Kunst. Gemeint sind
barocke Gebdude, Gemilde, Kleider, Musikstiicke oder Werke aus der Literatur, Was
zum barocken Stil gehdrt, kann man am Aussehen wiedererkennen oder wie es sich
anhdrt. Das Wort selbst kommt aus der portugiesischen Sprache. Wenn eine Perle nicht
richtig rund war, nannte man sie schief oder ungleichmifBig. Man nannte zunichst etwas
abfillig ,,barock®, wenn es nicht so aussah, wie man es gewohnt war, Dieser Stil dauerte
etwa von 1550 bis 1750 oder noch etwas spiter. Er entstand zunichst in Italien und
wurde dann auch in katholischen Lindern wie Spanien oder Frankreich beliebt. Spiter
kam er auch nach Norden. Barocke Kunst ist meistens tippig und ausufernd, das Auge
hat viel zu sehen. Sie ist bewegt und lebendig. Gemiilde sind meist sehr bunt, Gebiude
haben oft viele Schnérkel. Der vorherige Stil aus der Renaissance baute mehr auf die
Vernunft, auf das Glatte und Gerade.

In welchem Land wurde der Barock-5til geboren? In ..........

1) Italien 2) Spanien 3) Frankreich 4) Portugal

Der Text besagt, dass u. a. auch einen barocken 5til in der .......... gegeben hat.

1) Geschichte 2) Medizin 3) Dichtung 4) Theologie
Aus welcher Sprache kommt das Wort Barock? Aus dem .......... .

1) Spanischen 2) ltalienischen 3) Franzosischen 4) Portugiesischen
Was wird im Text unter »iippig« verstanden?

1) farblos 2) detailreich 3) langweilig 4) fremdartig
Man hat anfangs das Wort »barock« benutzt, um zu sagen, dass etwas ......... war.

1) altmodisch 2) unheimlich 3) sehr modern 4) ungewdhnlich
Wann war es mit dem barocken 5til endgiiltig vorbei?

1) Im 16. Jahrhundert 2) Mitte des 17. Jh.s

3) Im 18. Jahrhundert 4) Im Laufe des 19. Jh.s
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Partie A: Structure
Complétez les phrases suivantes en cochant la réponse correcte:

101- 1l aimait parcourir la Lande, ............ mains dans les poches et le regard fixé vers I'horizon,

1) les 2) des 3) ses 4) tes
102- §'il te plait, peux-tu me rendre ........... trousse.

1) le 2) ma 3) ton 4) mon
103- Son mari a lu le roman ............. deux heures, ¢’est incroyable!

1)en 2) pour 3) depuis 4) pendant
104- J'aime le thé, ............ bois souvent.

1)j'y 2)jele 3) je lui 4) j'en
105- Le lundi est un jour ............ beaucoup de magasins sont fermés,

1) qui 2) dont 3) que 4) ol
106- L'eau est froide: elle ne fait ............ dix- huit degrés!

1) ni 2) plus 3) que 4) pas
107- En général, il pleut souvent au printemps mais cette année il ......... trés peu.

1) aplu 2) pleuvait 3) avait plu 4) pleut
108- Si vous mangez peu le soir, vous ..., micux.

1) dormiriez 2) dormez 3) dormirez 4) auriez dormi
109- Je suis ¢tonnée que les infirmiéres ... si mal payées.

1) seront 2) soient 3) sont 4) seraient
110- Quand le pére est arrive, son fils ............. €5 devoirs.

1) finit 2) a fini 3) finissait 4) avait fini
111- Voila les CD que j'ai coovenvunenes pour toi.

1) achetée 2) achetés 3) acheté 4) achetées
112- Le studio du sixiéme étage .......... par un copain de Marie,

1) habite 2) est habité 3) soit habité 4) sera habité
113- Jeanne .......eee. sur le canapé et regardait la TV.

1) s'assoit 2) l'est assise 3) s'est assise 4) m'est assise
114- ...ceoiee vous me dites que vous étes pressé, partez sans moi.

1) Car 2) Comme 3) Parce que 4) Puisque
115- L'éléve demande ........... sortir de la classe.

1)a 2)de 3) par 4) pour
116- ......oe... Pierre a annoncé sa décision, il I' a regrettée.

1) Comme 2) Quoique 3) Bien que 4) Aussitot que
117- Tlest..ccccene méfiant que son frére est crédule.

1) si 2) autant 3) aussi 4) tellement
118- ........... taux élevé du chimage, ils ont gagné I'élection présidentielle.

1) Malgré le 2) Grice au 3) A cause du 4) En raison du
119- Envoyez-lui une lettre qui le ............ du changement des programmes.

1) prévient 2) préviendra 3) est prévenu 4) préviendrez
120- On a surpris un employé ........... des documents confidentiels,

1) photographié 2) en photographiant

3) photographiant 4) photographier
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Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

121- Pour célébrer leur anniversaire de mariage, il a offert .......... de fleurs.
1) un pot 2) une boite 3) un bougquet 4) un panier
122- On voit passer le chasse-neige pour dégager la route de la ......... "
1) neige 2) pluie 3) verglas 4) gréle
123- Lors de I'enterrement de sa mére, elle .......... ..
1} ariaux éclats 2) a eu le fou rire
3) est restée inditférente 4) a pleuré de chaudes larmes
124- Victor sera bientit ......... il a 17 ans.
1) majeur 2) un enfant 3) mineur 4) adolescent
125- 11 a fait une chute pendant le ski maintenant il a ........ a la jambe,
1) une brilure 2) un vomissement  3) une fracture 4) une foulure
126- Beaucoup de Parisiens quittent la capitale pour les grandes villas ......... .
1} en banlieue 2) au centre ville
3) aux quartiers résidentiels 4) aux boulevards
127- Quel est le ........... de votre permis de conduire.
1) nombre 2) numeéro 3) chiffre 4) point
128- Charlotte a obtenu sa meilleure performance et a .......... le record du monde.
1) entrainé 2) disputé 3) participé 4) battu
129- N'oubliez pas .......... votre ticket avant de monter dans le bus.
1) d'ouvrir 2) d'insérer 3) de mettre 4) d'inclure
130- Marie est vraiment .......... de payer deux fois de suite I'addition au restaurant.
1) avare 2) honnéte 3) généreuse 4) dépensiere

131- En criant, le capitaine a .......... aux soldats de se cacher dans les bois parce que les avions
ennemis s'approchaient.

1) incité 2) demandé 3) engagé 4) ordonné
132- 1l s'est adressé ........... pour le conseiller sur le choix du roman.
1) au guide 2) au libraire 3) a la librairie 4) a la bibliothéque
133- Le drapeau iranien est ......... .
1} unicolore 2) bicolore 3) tricolore 4) raye
134- Hier, j'ai ........ Pierre sur le quai de la gare.
1) vu 2) apergu 3) entrevu 4) regardé
135- La cuisine de certains pays est trés .........: ¢lle briile presque la langue.
1) poivrée 2) sucrée 3) salée 4) acide
136- Devant le lion, il eut une peur ........... .
|} noire 2) bleue 3) blanche 4) rouge
137- Les dents temporaires ou ............. sont les premiéres a sortir.
1) de sagesse 2) molaires 3) canines 4) de lait
138- Pour que le match continue, on attend ............ de I'arbitre,
1} le vote 2) le jugement 3) la décision 4) la sagesse
139- ('est avec une profonde ............ que nous accueillons ce grand traducteur.,
|} honneur 2) émotion 3) plaisir 4) sentiment
140- Si la banque préte une somme d'argent & un commercant, ce dernier ......... cette somme,

|} emprunte 2) investit 3) approvisionne 4) économise
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Partie C: Mise en ordre des mots
Placez les éléments suivants dans un ordre correct:

volontiers - plaisent - si - livres - préterai - je - ces - te - les - te

1) Ces livres te plaisent si je les te préterai volontiers.

2) Si te plaisent ces livres volontiers je te les préterai.

3) Je te les préterai si ces livres te plaisent volontiers.

4) Si ces livres te plaisent, je te les préterai volontiers.

Voudrais - bicyclette - cette - m'appartient - rendes - tu - je - bien - que - la

1) Cette bicyclette m'appartient, je voudrais bien que tu la rendes.

2) Bien que tu la rendes cette bicyclette je voudrais m'appartient.

3) Je voudrais bien que tu la rendes cette bicyclette m'appartient.

4) Je voudrais bien cette bicvclette bien que tu la rendes m'appartient.

Soir - viendrez - vendredi - vous - 4 - concert - notre?

1) Viendrez-vous a notre concert vendredi soir?

2) Notre concert viendrez-vous a vendredi soir?

3) A notre concert viendrez-vous vendredi soir?

4) A vendredi soir viendrez-vous notre concert?

nous - une - longue - route - bonne - heure - car - avons - demain - partirons - matin - de - nous
1) De bonne heure nous partirons car une avons une longue route demain matin.
2) Car une longue route nous avons nous partirons de bonne heure demain matin.
3) Demain matin nous partirons de bonne heure car nous aurons une longue route.
4) Car nous avons une longue route demain matin nous partirons de bonne heure.
Lac - trois - viens - vite - sur - le - cygnes - il - y - a!

1) Sur le lac il va trois cygnes viens vite!

2) Trois cygnes sont sur le lac vite viens!

3) Le lac sur trois cvgnes 1l yva viens vite!

4) Viens vite! Il y a trois cygnes sur le lac.

Partie I: Conversations
Lisez les conversations suivantes puis répondez a la question qui suit en cochant la
case correcte:

Le ministre des affaires étrangéres: Nous avons clagué la porte a ceux qui ont humilié
notre pays.

Le journaliste: Le ministre ........... Londres d'avoir humilié son pays.

1) accuse 2) critique 3) menace 4) proteste

Pierre a Sylvie: entendu! Jean veut nous accompagner en Suisse: cela ne me derange.
pierre .......... que je les accompagne en Suisse.

1) refuse 2) autorise

3) permet 4) accepte volontiers

Le garcon de café: Qu'est - ce que vous .........., Madame?

Le client: je voudrais un café, SVP.

1) bouvez 2) voulez 3) désirez 4) avez

L'employée de la banque.: Vous avez demandé 4 notre banque un prét de 100000 euros.
Pouvez- vous préciser les raisons de votre demande?

Marie souhaite ........ a la banque.

1) empreinter 2) emprunter 3) prendre 4) préter
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Daniel: Dimanche prochain, je ferai une petite féte pour mon anniversaire, tu viendras?
Mireille: Oui mais je ne partirai pas trop tard.

1) Daniel organise un anniversaire.

2) Mireille refuse l'invitation de Daniel.

3) Daniel invite Mireille a son anniversaire,

4) Mireille aide Daniel & féter son anniversaire.

Partie E: Texte i compléter
Complétez le texte suivant avec les réponses proposées:

........... (151) des enfants augmente de maniére .......... (152). A tel point que la courbe
de corpulence a ............ (153) trouvé place dans le .......... (154) de santé, 4 coté des
traditionnelles courbes de taille et de poids. Entre 2002 et 2016, le nombre de trés hauts
surpoids de 10 ans a plus que doublé en région ........... (155). Selon les ........... (156) et
les nutritionnistes, la France s'achemine vers une société a l'américaine.

Aux Etats- Unis, 40 % de la population ............. {157) d'obésité; et le président de
OMS est chargé de proposer des mesures .......... (158), ce .......... (159) pourrait doubler
d'ici 2030.

Observons les petits Frangais. Le corps de ceux .......... (160) vont développer une
obésite s'étoffe trop tot.

1) L'obésité 2) La grosseur 3) La grossesse 4) La graisseur
1) génante 2) ennuyeuse 3) inquiétante 4) interessante
1) plus 2) déja 3) encore 4) récemment
1) la feuille 2) le concert 3) le livre 4) la carte

1) Paris 2) parisien 3) parisienne 4) le de France
1) scientifiques 2) rechercheurs 3) meédecins 4) chercheurs
1) souftre 2) est malade 3) atteint 4) attrape

1) préventifs 2) préventives 3) preventive 4) préventions
1) ce prix 2) ce taux 3) ce numéro 4) ce point

1) on 2) que 3) qui 4) dont

Partie F: Compréhension de texte
Lisez les textes suivants et répondez aux questions:

Pour gérer la croissance du début des années 70, les banques ont d'abord embauché,
résume Bernard Lamé, directeur des ressources humaines de la BNP. Puis elles ont
commencé a s'informatiser. Mais une informatisation, cela se passe en trois temps.
[Yabord, on installe l'architecture, avec les terminaux dans les agences. Puis on
commence a faire fonctionner le systéme en double, tout en gardant les procédures sur
papier d'avant. Jusque-la les effets sont modestes. Enfin, on bascule. Et alors, ¢a va trés
vite.

Les administratifs assistent, sonnés, a la lente implosion de leur emploi.
"Régulierement, il ¥ a de nouveaux systémes qui menacent telle ou telle équipe. Les
bureaux se vident, il ¥ a de moins en moins de gens, de moins en moins de papier et de
plus en plus de terminaux," témoigne, en essayant de ne pas céder au découragement,
Agnes déprime: c'est terrible; vous faites un travail qui vous plait et puis du jour au
lendemain, le travail disparait. Vous changez de poste, votre nouveau travail s'enfuit a
son tour. Les gens ne parlent plus que de ¢a. On est en train de pourrir sur place.
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161- Pour suivre le rythme de la croissance, les bangues ont ..........

1) embauche puis informatisé 2) informatisé puis licencié

3) formé de nouvelles équipes 4) amélioré le service d'administration
162- La premiére étape d'informatiser est ......... .

1) disparition des banques 2) licenciement du personnel

3) formation des employés 4) installation de l'architecture technique
163- Quel est le sentiment des employés de banque ? Ils sont ......... .

1) tristes 2) décourages 3) deégus 4) heureux
164- L'informatisation de banque ...........

1) informe mieux les clients 2) augmente la qualité du service

3) fait disparaitre l'employé de banque  4) diminue le nombre de chimeurs
165- Les postes les plus touchés sont parmi ......... .

1) la direction 2) les techniciens

3) les informaticiens 4) le personnel administratif

Deux points de vue sur les nouveaux programmes scolaires:
Il ya une vraie inquiétude des enseignants qui est die au climat actuel. Les programmes
ont pas mal change ces derni¢res années: 1985, 1995, 2002,2007!

L'interrogation principale est de savoir si les nouveaux programmes sont dans la
tradition de I'école frangaise ou s'ils sont faits dans la perspective d'un systéme éducatif
a l'anglo- saxonne. Est-ce que le retour aux fondamentaux, cela veut dire armer les
jeunes le mieux possible ou leur donner le socle minimum pour les besoins des
employeurs? Je pense que ce n'est pas facile de trancher a 'heure actuelle.

Ces programmes sont un premier pas pour déterminer la progressivité des
enseignements, qui avaient perdu de la clarté.

De plus, ces nouveaux programmes reviennent a4 la mémorisation que certains
collégues avaient proscrite, en s'appuyant sur les ambiguités des instructions
antérieures. On insistait beaucoup sur le sens a donner aux apprentissages. On avait un
peu oublié que toute une part doit étre automatisée justement pour libérer l'esprit et se
concentrer sur des problémes. Notamment en lecture et en calcul, il faut apprendre par
ceeur alin d'acquérir des automatismes pour mobiliser aprés sur la réflexion. Pour ce
qui est de l'éducation civique et morale qui sera dispensée a l'école, en dehors du
changement d'appellation qui ajoute l'adjectif morale.Cette matiére a toujours existé,
des I'époque de Jules Ferry.

166- Combien de réformes y a-t-il en dans les vingts derniers années?
1)3 24 3) Aucun 4) Plusieurs
167- Que révéle les changements de programmes dans 'enseignement?
1) La passivité des enseignants.
2) L'inquiétude des enseignants,
3) L'incompétence du service public.
4) Le malaise des pouvoirs publics dans ce domaine.
168- Quelle est la principale critique adressée au ministre?
1) Trop de réflexions. 2) Trop de tests.
3) Trop de mémorisation. 4) Peu de travail écrit.
169- Quelle est 'ingquiétude des enseignants?
1) Un apprentissage a l'anglo-saxonne.  2) Une méthode traditionnelle.

3) Trop de rénovation. 4) Des programmes peu clairs.
170- L'éducation civigue existait .......... .
1} depuis la révolution 2) a I'époque de Jules Ferry

3) seulement au lycée 4) depuis 'école obligatoire
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